Moto-All.ru

CITMCOK OETAJIEY NIJ1d "GEAR CHANGE MECHANISM" TRIUMPH TIGER

800XC

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY NIJ1d "GEAR CHANGE MECHANISM" TRIUMPH TIGER

800XC

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2088000 Cpok mocTaBKH OT 19 mHE# Gearchange Assembly

2 T2082882 Cpok mocTaBKH OT 19 mHEH Gearchange Rod

3 T3350300 CpOK ITOCTaBKY OT 27 gHEHN NUT,M6X1.0,SLV

4 T3350304 CpOK ITOCTaBKH OT 27 gHEHN NUT,LH,M6X1.0,SLV

5 T2088004 Cpok moctaBku oT 19 gHE#N Clamp Assy, Linkage

6 T3205066 CpOK ITOCTaBKH OT 27 gHEHN BOLT,HHF,LGHTD,M6X1.0X20,SLV
7 T3331612 CpOK ITOCTaBKH OT 27 gHEHN BOLT,SHLD,M8 X 1.25,SLV,ENC
8 T1190106 Cpok mocraBky oT 19 nHel Gearchange Mechanism Assembly
9 T1190107 Cpok mocraBku oT 19 nHen Detent Arm Assembly

10 T3502535 Cpok mocTaBKu OT 27 gHEH CIRCLIP, DIN 471, DIA. 14.0

11 T3550236 CpOK IT0CTaBKY OT 27 JHEHN WASHER, 14.0X20.0X1.6

12 T1193333 Cpok mmoctaBku OT 19 gHe# Spring, Gearchange, Return

13 T1194905 Cpok mocTaBku oT 19 gHE# El; G%es)t;;; Wheel & Plate. > Eng
13 T1194900 Cpok mocTaBku oT 19 gHew Pivot Plate. Eng No 665340 >

14 T1190123 Cpok mocTaBku oT 19 gHe# Spring, Pivot Plate

15 T3551602 CpOK ITOCTaBKH OT 27 gHEHN WASHER, THRUST,12X18X1.2

16 T3500068 CpOK ITOCTaBKH OT 27 gHEHN CIRCLIP, DIN471, DIA 12

17 T3551056 CpOK ITOCTaBKH OT 27 gHEH WASHER, 18.5X25X1.5, STEEL
18 T3550090 CpoK IT0CTaBKy OT 27 JHEU THRUST WASHER

19 T3500044 CpoK mocTaBku OT 27 fHEH’ 'E' CLIP

20 T1190003 CpOK ITOCTaBKH OT 27 JHEHN PIN,SPRING ABUTMENT




